R FEFH T (H2, 1)

(1) $PBI-TH

[ADOvY] [BJAvy]

AL Az [ A3 [ A R Bl [ B2 | B3 [ ... |8 A7 —= )

wy - " i o JIE Az o Jl I . JIE {37
wrnlmenimn] P e glpms] M O L R T o
?%?E 0-3|3-0|1 -1 3 0451 2 { ?Eiﬁﬁ/,ﬁ 2 -1[3-0]2 -0 5 [0582] 1 {1
A, , B g ,
2?&.%5‘&370 2 -1l2-0] 5 |o719] I {1 Zﬁm.\-l—z 1 -2]o-2 2 0438 3 11
AL , B ,
3m3¥4/?'<0—31—2 0-2 1 0.356 | 3 V] 3%)(53&0—32—1 1 -1 2 0.481 | 2 1]

AJRAvY

IR Al FHFRE (0) —(3)A2 EERI2R A2 @EI (2 ) — (1) A3 [JBIRIBR Al AFE (3 ) — (0) A3 JWER

S1 (BE K¥E) 2 -8 (/MR =E)[st (AR =EE) 8 - 1 ( HrE—m)|s1 (BEE KiE) 8 - 4 ( HHMEA)
s2 (TH ) 1 -8 ( #E AR )|[s2 (¥R AF) 8 -2 ( W7 #HAK)|S2 (TH ) 8 -4 (BT #i5)

D (&M B£A) 4-8 (/M EHE)ID (=& ) 6 -8 ( FHAEGE-M)|ID (A H£N) 9 -7 ( FEFE W)
( ek =) ( Mg AT (el =) ( #7489 ) (B K ) ( #7 H)

B7AvYH

IR Bl B (2)— (1)B2 HFHE[2R B2 FHHE (1) — (2 ) B3 ) B3 RKHIR

2
H
Jm
<o
=~
=
iy
=
P
w
|
o

s1 (4RH ) 8 -3 ( = KA)fst (=k KAv) 9 -7 FHE\E  F)ls1t (RHE ) 8 -6 ( A )
S2  (fEfE M) 5 - 8 (I sy [s2 (I W) 5 -8 ( LEE R ) [s2 (MR fEth) 8 - 5 ( L RE)
D (el HEth) 9 -7 ( = XA )ID (=ZFE X&) 3-8 ( AW F)[D (=R M) 8 - 4 ( mH FH)

( RH W ) (I s (g ) ( Lig #Es) ( RH W ) ( LpE fE1)

(2] JEfRLRE B
(1) 1 ~ 6 SREH

1605 )V—7 268015 —F 3T IN—=7
Al BB (1) — (2 ) BUL FHRIE Az E P (1) — (2 ) B2 BRI A (IR (1) — (2 ) B3 HERE
SsI (/MR =K ) 2 -8 (RH YISt (EEE KME) 8 -9 (A ) (ST (HHEE-ES) 3-8 ( = KA )
(4)
2 (e AW ) 8 — 3 ( MEEE EH)[s2 (TH fEth) 8 -5 ( LiE )2 (RBE E£) 9 -8 ( I )
(5)

D (/MR =E) 3-8 ( RH ®YID (o #£A) 4 -8 ( AE  H)[D  (HEE-EE) 3-8 ( = KA )
(EE AT ( ek Eth ) ( B KfE) ( LiE fer) (T ) ( I s
(2) 2~3 « 4~5 GIRTEH

2 ~ 3 ({IREH 4 ~ 5 SIREH
fmiEE (2) — (0) BKHEE AT (1) — (2) HHE

st (/R EE ) 8 -6 (A B)IST (EE K ) 2 -8 ( =k KM
S2 (Wl AR ) 8 -1 (G ez )|s2 ( TH Eth) 8 -6 (I )

Bl KR ) 4 -8 ( =k KIv)

D (/M EE) fregy ¢ FE @t ) [D
wiE B (g )

( Pl AW ( THE W)

—~ ~

(3% ABL 207~ SALIRTE ik Mo DN~ SALRTE T T8 — 7 Tk i A DS B 1T 21T D70, )

BEIRGL 16 =R 260: B8R 36 UEAR 464 FHE S 5FR 6 IR




i £ (B2, #1)

(1) FR)-IE
[ATOvs] [BDOvs]
Al A2 A3 R DN Bl B2 B3 v | T —A
e e e I T R e T I Rl T e R
/l\%kEH/L’?' 3-0|2-1]2-0] 5 ]0.6338] I 1 kf?é.*i;ﬁf’ 1 -2|3-o0f1 - 4 10.6176] 2 1V
/2\%3?;’?'0—3 3 -0]1-1] 3 04937 2 1 S%Ejﬂa2—1 3 -0[|2 - 5 10.6667] 1 V]
/3\%—%';'1—20—3 0-2 1 |0375| 3 fi Smﬂéﬁo—so—z 0 - 0 ]0.1579] 3 i
AJOwvy
IR Al BkHE (3) —(0) A2 HAFRI2R A2 AFR (3 ) — (0) A3 FHHERISR Al BHE (2)— (1 )A3 FHE
SI (BH AE) 8 -2 ( /FE WE)IST O(/MF HmE) 8-4(AKEZ EH)[S1 (HH £EH) 4-8( KE EH)
s2 (wHE O R) 9-7(EY E)[s2 (/R OKEFE) 8 - 3 ( BiE FIML)[s2  (WHE R ) 8 -0 ( Bk Figk)
D (¥ 4AH) 8-5((/NF WE)ID (/MF BWE) 9-8( A% EH)ID (HH 4£EH) 8 -4 ( KZ EH)
( R R (®"% %) (/MR FEFE) (T (R ) ( W R ( BB )
BZ7OwY
IR Bl BEHE (1) — (2)B2 wEE[2R B2 wEE (3 ) — (0 ) B3 [WEE[SR Bl FHHE (3 ) — (0) B3 [WEE
SI (4R XE) 8 -6 ( R RE)IS1 O (RF BE) 8-0( mH &) (st (R XHE) 8 - 1 ( AE L)
S22 (FnH BER ) 5 — 8 ( ¥ EEF)|S2 (¥R MEF) 8- 1 ( HH THE)[s2 (FfaH BER) 8 — 3 ( A )
D (MEEAEE) 5 -8 ( KF #E)ID (EF #£) 8-4( HH &) IID (R XE) 8 -0 ( HHEH TE)
(prE FE) (W0 #EF) (L %BE) ( A It ) ( FfnE mEER) ( g HBR)
(2] IERLRERE
(1) 1 ~ 6 fiRER
15— 26815 -7 3T IN—-F
AL FKEHBE (2 ) — (0 ) BUT 85I AL S FUL (2 ) — (0 ) B2 EHEIR A FHARE (2 ) — (0 ) B3 [LJBIR
SI (B AF) 8 -4 ( RFE BE)IST (ME HE) 8-2( R E) st (AZ EIh) 8 -1 ( HHE L)
s2 (IR#E ) 8 -1 (D EE)|s2 (ET H) 8 -6 ( FulE BCR)([s2  ( Mk FIBk) 8 - 4 ( SN )
D (E%/EP A7) ﬂww( %“)5 fﬁ%) D (ﬂﬁ? Hﬂiéf) ﬂww( eIk B 23 ) |D (i!f/%’f i’fﬂ:) m)@w( A H wﬁ)
( WE R ( D BE) (B %) ( brEE FEF) (#ER X)) ( ¥\ TE)
(2) 2~83 - 4~5 (IREH
2 ~ 3 RIRER 4 ~ 5 IREB
AFE (0) — (2) wmER HaE (0) — (2) wiE
SL (/M W% ) 6 -8 (RF &E)HISL (AZ ¥ )6 -8 (R XE)
S2 (/PN AEZE ) 8 — 9 (UEID #EE )|S2 (B FlEk ) 2 -8 (Ful BER )
(3)
D (:JJ% Hﬂfﬁf)ﬂgm %“)5 iﬁi‘-%)D (7&% ff;ﬁ)m)m(@é@zaﬁ%%)
( ®5¥F F) (Wl #EE ) ( BE X)) (P HFE)

(3% B 207~ SALIRTEHE Mo DAL~ AL E L T8 — 7 Tk - DG A 13 21 Th7Rv, )

IR

160 ER 26 E5R 3fi:

=

Y=

IR 54i:

FEHRER 6L ILER




